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Reg: No.

IV Semester B.A./B. Sc Degree Exammatlon, September/October 2022
" ECONOMICS
Introduction to Statistics for Economics.
(CBCS'Sch_eme F+R) |

Time : 3 Hours ek 10N o  Maximum Marks : 100
Instructions to Candidates: ' ' g

1)  Answers must be completely either in Kannada or in English.

2)  Answers should be precise. |

3) Answers to Part-A should be continuous.

PART - A

Answer any 10 of the following questions. Each question carries 2 marks. (10><2=20)
BRPYTT 10 BIROR wv30L. B30I FIT 2 o8, o
1. a) What are the different averages. ?
FoaR00d QDG BTN AR,
b) Calculate mean for the following:
TSNS TB03NYR NTIRO TOWIREBAD.
.67, 76, 82, 44, 60, 71, 54, 66
c)' What is kurtosis ? |
BLERCFAT QOTTEID -2
d) Find median fof the- following.
BINS. Bz03NeR [T T TOTRIHREOD.
28, 42, 51, 39, 46, 33, 30, 39,-53, 42
e) - What is positive correlation ?
c;a:aziﬁ NBROWOT @oddesﬁo ?
f)  What are index numbers ?

:irazsaz; 0N D0TTE 2
[P.T.O.



[ CRErAn (2) 32423

g)  Writc both the normal cquations for X and Y lines of regression.
X 208 Y Seasnd dordosod 0@ #0¢ HR0cEtanea), U0
h)  What is time reversal test ?
TOO LORTIMNE 03N 0TTeD ?
i)  Calcualte range and its coefficient
DT ) ©TT MORI0EER), FOTIROID.
8, 10, 15, 22, 20, 16, 12, 7, 5, 4
J)  Mention any 2 uses of index numbers.
| AR, 080 S0E B,03ReESRYRY 94
k) What are the various components of time series ?
X200 I,e£3030 NG 503N7ED 03RR)w) ?
1)  Calculate harmonic mean

©RIT F0359,T,eE3000), TOEIEOWD.

X 2 4 5 8 10
f 3 5 12 9 1
| PART - B
Answer any 4 of the following. Each question carries 5 marks. (4x5=20)

| cInRmEte W), BIAVE e30h. B3R BIR 5§ GoIRD.
2.  Calculate arithmetic mean for the following distribution by assumed average method.
2RLI0ON SRE FORE FUIND DGRRO0T e0snede RoIROODRY, FOREROWD.
Income (in Rs.000) 80 100 | 160 | 180 | 200 |250
Number of persons 26 16 24 30 20 06

. 3. Calculate mean deviation from mode for the following.

TN TYRE WROYER0T SOTT DOTODTY, TORBRCD.
x |40 {50 | 60 | 70 | 80 |90
f 1108 (20108 |9
4. Calculate Spearman’s rank -correlation co-efficient for the following.

FINT BR&L3N A0DTTT VST ABHOLIOE TORI0TTR), BOIBLED.
x |68 [64 [75]50 [65]80[78[40 |55 69 |
y |62 |58 |68 |45 |81 |60 |65 |48 |50 |70
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8.

Obtain standard deviation for the following data.
BN Yoo, B¢ QoS N3O ForRIBROD.

XN |9 [18 |27 |36 [45 |54 |63

Cl12 14 1319 |10]5 |4

Calculate median for the following.

3INI o T e STE SomdBDRWD.

C-l 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90

F 28 32 45 60 56 40 20

Calculate mean deviation and its co-efficient for the following.
BINS Tvesnen 0F;8 DVOT DY) VTTB MOFI0FIRY, F0RLEOWD.

X 6 8 10 [3 18 21 22
PART - C
Answer any. 4 of the following. Each question carries 15 marks. ~ (4x15=60)

QARYTTIN o) e_s,gmﬁ oUZ0R. T3 ag%ﬁ 15 ¢03nsD.
Calculate mean, median and mode for the following data.
WOINIS TToIO, SOFT FoB) WBOYEIT), FORILAAD.

Capital in Rs. Lakhs | 0-5| 5-10 [ 10-15 | 15-20| 20-25| 25-30 | 30-35| 35-40

Number of Companies | 6 7 9 18 25 15 22 8

Calculate standard deviation for the following using assumed average method. Also
obtain its co-efficient of variation.

SRHTR FRbN TORE FOWO OFISNORE DHOFTD, W B0 RE0II
FoRO&ABCD.

X 17 18 19 21 22 23

(SO TN I (O]
oo

f 3 6 11 8 4 1
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10,

11.

12

13.

Bight competitors in a beauty contest are awarded ranks by 3 Judges in the following
order use rank correlation co-cfficient and find out the most consistent pair of
Judges having nearst tuste towards beauty |

xPosedor A odmotidd) otk ARFMW BN 170, et YahFrmoboT S 0ededd
B eodnodnivia), roathend. Berdod sorY Moo rrmmonns, L TROTICIFT) BUN
BIOE o), BROODF ¢,0Y 40T haed dEFROTE), YrROD.

2[4 3 | s | 7 |81 [6

Lltfa | 6 | 7 5 il

B
L3l 2| a7 | 6 | 8

-Obtain the 2 regression lines for the following,

BINS dagoémﬁ Q0RE) H0WOH0I zﬁ&acz&mﬁz}@ GO0,

X 5 8 i 0 4

Y 3 4 5 2 |

Calculate Pearson’s co-efficient of Skewness, '
LONTRI'TSO WOSZ MOB0BRTY, TOBILERONO.

Mid Value 75 100 | 125 [ 150 | 175 | 200 | 225 | 250

[ 35 | 40 | 48 | 100 | 125 | 80 50 22

Construct Fisher’s ideal index number and verify whether it satisfies factor reversal
test and time reversal test. ‘

3UNS ,8 &0 TR Aee, 083 FOBNLRAWD. HUE LODTINE B03ReT ) To

- 0000008 B03eenty AmohOs ©rd Sowgodhay o,

Commod ity P, ;P ) TR«
12 100 20 112

4 200 40 240

§. 120 12 120
20 60 24 48
6 80 24 52

0o QO w >
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Reg. No.

IV Semester B.A/B.Sc. Degree Examination, September/October - 2022
ECONOMICS
Agricultural Economics
(CBCS Scheme-Freshers+Repeaters 2019-20 Onwards)
Paper : 4.2 '
Time : 3 Hours , Maximum Marks : 100
Instructions to Candidates:

1)  Answers must be completely either in Kannada or in English.
2)  Answers to Part-A should be continuous. '
3)  Answers should be precise.

PART - A
(Conceptual) -

Answer any ten of the following in 2 to 3 sentences each. Each question carries 2
marks. ! (10%2=20)

1. a) What is meant by rural economy ?
,a0er0 s@rﬁé'aoddem ?
b) Mention any two Agro-based industries.
BRYRTAR AR G SE0S §ROSNYRY BNOR.
c) What are allied activities of agriculture ?
& HOWoRT 3e1TLIBAW 20TTexd ?
d) What is the main economic activity in rural areas ?
MR,a0eed T)WeINFY, B0, zE SPFT 23L30TdF 0IRJYTO ?
e) What is meant by cropping pattern ?
238 R0080 Q0TBed 7 .
f)  Expand NABARD.
NABARD &) O30x.

[P.T.0.
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g)  What is meant by consolidation of land holdings ?
R LROITONG AT H0TTEID 2
h)  Give the meaning of land reforms.
3R AWHTHRE &3F Aed.
1)  What is regulated market ?
Q008,3 B[RTIEES 0TI ?
j)  What is meant by AGMARK ?
AGMARK 20338630 9
k)  Mention any two types of irrigation.
QETITOOD CINF)TT3R TR @’fmdmf@ 3.
1)  What is dryland farming ?
289 23R Wm0 0TI 2
PART - B
(Analytical Type)

Answer any four of the following in 20 sentences each. Each question carries 5
marks. (4x5=20)

2.  Explain the importance of agriculture in rural economy.
MR,a0erd SRFTZ0IDY, FAod 53,300, IaDITY DZOA.
3. Explain the functions of NABARD.
SWPEFS FODFNIRY DO
4. Write a short note on horticulture.
SretmodBad wii TS wToWd.
5. What are the broad objectives of agrarian reforms ?
& RORNY QT GUTESND ARy 2
6. Explain the defects of agricultural marketing.
B& IRDTEoD BReEnTSy DF[OR.
7. Write a note on Green Revolution.

BT 53,0301 2, WIS 2Fowo.
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10.

11.

12.

13.

PART - C
(Descriptive)
Answer any four of the following not exceeding 4 pages each. Each question carries
15 marks. ‘ | (4%x15=60)
Discuss the significance of food processing industries.

YT NoXTED SUT N DBIZL), DFOR.

Explain the important characteristics of Indian Economy.
03T SRFIIOD T,=0D oitarw&}* DWOR.

Explain the measures to overcome low agricultural productivity.
R I m@)dﬁéojo@{ VeT0RL [T B,RONE), ;DSO%.
Examine the land reforms programme in India.

mdeQ W TOT0H saodorgmﬁeéasi S0dedA,

Explain the various non-institutional and institutional sources of agricultural finance
in India.

' 3:)&1 DEITORI mo%%ea’d 2B moz&s mOﬁ@a’% DWOR.

Explain the application of technology in agriculture.

3 A0S, F03,ZPRB SYSATODY, IR0




